> restart;

>
E:="E':G:="G':Ia:="Ia':My:="My':Mz:="Mz':L:="L":xi:=simplify(2/L*(x-L/2)):N1l:=si
mplify(1/4*(2-3*xi+xi”3)):N2:=simplify(L/8*(1-xi-xi*2+xi”3)):N3:=simplify(1/4*(2
+3*xi-xi"3)):N4:=simplify(L/8*(-1-xi+xir2+xi"3)):My:=1*My1+1*(My2-Myl)/L*x:P:=(1
*P1+1%(P2-P1)/L*x) :Mz:=1*Mz1+1*(Mz2-Mz1)/L*x:Bi:=1*Bil+1*(Bi2-Bil)/L*x:

>

g:=simplify(N1*g1l+N2*dgl+N3*g2+N4*dg2):v:=simplify (N1*v1+N2*dv1+N3*v2+N4*dv2) :w:
=simplify (N1*wl-N2*dwl+N3*w2-N4*dw2) :u:=ul*(L-x)/L+u2*x/L:

>
U:=simplify(1/2*(E*A*diff(u,x) "24E*Iy*diff(w,x,x) "24E*Iz*diff(v,x,x) "24G*It*diff
(g,x)"2+E*Ia*diff(g,x,x)"2)+My* (diff(v,x,x)*g+bl*diff(g,x)"2)+Mz*(diff(w,x,x)*g+
b2*diff(g,x)"2)+1/2*Bi*bw*diff(g,x)"2-P/2*(ror2*diff(g,x) 2+diff(v,x)*2+diff(w,x
Yr242*ze*diff (v, x) *diff(g,x)-2*yc*diff(w,x)*diff(g,x))):

U:=simplify(U):

Ui:=int(U,x=0..L):

Ui:=simplify(Ui):

N1:=diff(Ui,ul):N2:=diff(Ui,u2):
Qlz:=diff(Ui,wl):Q2z:=diff(Ui,w2):Mly:=diff(Ui,dwl):M2y:=diff(Ui,dw2):

v

UERZAS INTERNAS
Qly:=diff(Ui,v1):Q1ly:=simplify(Qly):

Mlz:=diff(Ui,dv1):Mlz:=simplify(M1z):

Tl:=diff(Ui,gl):T1l:=simplify(T1):

Bl:=diff(Ui,dgl):Bl:=simplify(B1):

Q2y:=diff(Ui,v2):Q2y:=simplify(Q2y):

M2z:=diff(Ui,dv2):M2z:=simplify(M2z):

T2:=diff(Ui,g2):T2:=simplify(T2):

B2:=diff(Ui,dg2):B2:=simplify(B2):

MATRIZ DE RIGIDEZ

> K:=matrix(14,14,0):

>
m:=1:K[m,1]:=diff(N1,ul):K[m,2]:=diff(N1,v1):K[m,3]:=diff(N1,wl):K[m,4]:=diff(N1
,81):K[m,5]:=diff(N1,dwl):K[m,6]:=diff(N1,dv1l):K[m,7]:=diff(N1,dgl):K[m,8]:=diff
(N1,u2):K[m,9]:=diff(N1,v2):K[m,10]:=diff(N1,w2):K[m,11]:=diff(N1,g2):K[m,12]:=d
iff(N1,dw2):K[m,13]:=diff(N1,dv2):K[m,14]:=diff(N1,dg2):

>
m:=2:K[m,1]:=diff(Qly,ul):K[m,2]:=diff(Q1ly,v1):K[m,3]:=diff(Qly,wl):K[m,4]:=diff
(Qly,gl):K[m,5] :=diff(Qly,dwl):K[m,6]:=diff(Qly,dvl):K[m,7]:=diff(Qly,dgl):K[m,8
]:=diff(Qly,u2):K[m,9]:=diff(Qly,v2):K[m,10]:=diff(Qly,w2):K[m,11]:=diff(Qly,g2)
:K[m,12]:=diff(Qly,dw2):K[m,13]:=diff(Qly,dv2):K[m,14]:=diff(Qly,dg2):

>
m:=3:K[m,1]:=diff(Q1lz,ul):K[m,2]:=diff(Q1z,v1):K[m,3]:=diff(Q1lz,wl):K[m,4]:=diff
(Q1z,g1):K[m,5]:=diff(Qlz,dwl):K[m,6]:=diff(Qlz,dv1l):K[m,7]:=diff(Qlz,dgl):K[m,8
]:=diff(Q1lz,u2):K[m,9]:=diff(Qlz,v2):K[m,10]:=diff(Qlz,w2):K[m,11]:=diff(Qlz,g2)
:K[m,12]:=diff(Q1lz,dw2):K[m,13]:=diff(Q1lz,dv2):K[m,14]:=diff(Q1lz,dg2):

>
m:=4:K[m,1]:=diff(T1,ul):K[m,2]:=diff(T1,v1):K[m,3]:=diff(T1,wl):K[m,4]:=diff(T1
»81):K[m,5]:=diff(T1,dwl):K[m,6]:=diff(T1,dv1l):K[m,7]:=diff(T1,dgl):K[m,8]:=diff
(T1,u2):K[m,9]:=diff(T1,v2):K[m,10]:=diff(T1,w2):K[m,11]:=diff(T1,g2):K[m,12]:=d
iffF(T1,dw2) :K[m,13] :=diff(T1,dv2):K[m,14]:=diff(T1,dg2):

>
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m:=5:K[m,1]:=diff(Mly,ul):K[m,2]:=diff(Mly,v1):K[m,3]:=diff(M1ly,wl):K[m,4]:=diff
(Mly,gl):K[m,5]:=diff(Mly,dwl):K[m,6]:=diff(M1ly,dvl):K[m,7]:=diff(M1ly,dgl):K[m,8
]:=diff(Mly,u2):K[m,9]:=diff(Mly,v2):K[m,10]:=diff(Mly,w2):K[m,11]:=diff(Mly,g2)
:K[m,12]:=diff(Mly,dw2):K[m,13]:=diff(Mly,dv2):K[m,14]:=diff(Mly,dg2):

>
m:=6:K[m,1]:=diff(M1z,ul):K[m,2]:=diff(M1z,v1):K[m,3]:=diff(M1z,wl):K[m,4]:=diff
(M1z,gl1):K[m,5]:=diff(M1z,dwl):K[m,6]:=diff(M1z,dv1l):K[m,7]:=diff(M1z,dgl):K[m,8
]:=diff(M1z,u2):K[m,9]:=diff(M1z,v2):K[m,10]:=diff(M1lz,w2):K[m,11]:=diff(M1lz,g2)
:K[m,12]:=diff(M1z,dw2):K[m,13]:=diff(M1z,dv2):K[m,14]:=diff(M1z,dg2):

>
m:=7:K[m,1]:=diff(B1,ul):K[m,2]:=diff(B1,v1):K[m,3]:=diff(B1,wl):K[m,4]:=diff(B1
,g81):K[m,5]:=diff(B1,dwl):K[m,6]:=diff(B1,dv1l):K[m,7]:=diff(B1l,dgl):K[m,8]:=diff
(B1,u2):K[m,9]:=diff(B1,v2):K[m,10]:=diff(B1,w2):K[m,11]:=diff(B1,g2):K[m,12]:=d
iff(B1,dw2):K[m,13]:=diff(B1,dv2):K[m,14]:=diff(B1,dg2):

>
m:=8:K[m,1]:=diff(N2,ul):K[m,2]:=diff(N2,v1):K[m,3]:=diff(N2,wl):K[m,4]:=diff (N2
»81):K[m,5]:=diff(N2,dwl):K[m,6]:=diff(N2,dv1l):K[m,7]:=diff(N2,dgl):K[m,8]:=diff
(N2,u2):K[m,9]:=diff(N2,v2):K[m,10] :=diff(N2,w2):K[m,11]:=diff(N2,g2):K[m,12]:=d
iff(N2,dw2):K[m,13] :=diff(N2,dv2):K[m,14]:=diff(N2,dg2):

>
m:=9:K[m,1]:=diff(Q2y,ul):K[m,2]:=diff(Q2y,v1):K[m,3]:=diff(Q2y,wl):K[m,4]:=diff
(Q2y,gl1):K[m,5] :=diff(Q2y,dwl):K[m,6]:=diff(Q2y,dvl):K[m,7]:=diff(Q2y,dgl):K[m,8
]:=diff(Q2y,u2):K[m,9]:=diff(Q2y,v2):K[m,10]:=diff(Q2y,w2):K[m,11]:=diff(Q2y,g2)
:K[m,12]:=diff(Q2y,dw2):K[m,13]:=diff(Q2y,dv2):K[m,14]:=diff(Q2y,dg2):

>
m:=10:K[m,1]:=diff(Q2z,ul):K[m,2]:=diff(Q2z,v1):K[m,3]:=diff(Q2z,wl):K[m,4]:=dif
f(Q2z,g1):K[m,5]:=diff(Q2z,dwl):K[m,6]:=diff(Q2z,dv1):K[m,7]:=diff(Q2z,dgl):K[m,
8]:=diff(Q2z,u2):K[m,9]:=diff(Q2z,v2):K[m,10]:=diff(Q2z,w2):K[m,11]:=diff(Q2z,g2
):K[m,12]:=diff(Q2z,dw2):K[m,13]:=diff(Q2z,dv2):K[m,14]:=diff(Q2z,dg2):

>
m:=11:K[m,1]:=diff(T2,ul):K[m,2]:=diff(T2,v1):K[m,3]:=diff(T2,wl):K[m,4]:=diff(T
2,81):K[m,5]:=diff(T2,dwl) :K[m,6]:=diff(T2,dv1l):K[m,7]:=diff(T2,dgl):K[m,8]:=dif
f(T2,u2):K[m,9]:=diff(T2,v2):K[m,10]:=diff(T2,w2):K[m,11]:=diff(T2,g2):K[m,12]:=
diff(T2,dw2):K[m,13]:=diff(T2,dv2):K[m,14]:=diff(T72,dg2):

>
m:=12:K[m,1]:=diff(M2y,ul):K[m,2]:=diff(M2y,v1):K[m,3]:=diff(M2y,wl):K[m,4]:=dif
f(M2y,gl):K[m,5]:=diff(M2y,dwl):K[m,6]:=diff(M2y,dvl):K[m,7]:=diff(M2y,dgl):K[m,
8]:=diff(M2y,u2):K[m,9]:=diff(M2y,v2):K[m,10]:=diff(M2y,w2):K[m,11]:=diff(M2y, g2
):K[m,12]:=diff(M2y,dw2):K[m,13]:=diff(M2y,dv2):K[m,14]:=diff(M2y,dg2):

>
m:=13:K[m,1]:=diff(M2z,ul):K[m,2]:=diff(M2z,v1):K[m,3]:=diff(M2z,wl):K[m,4]:=dif
f(M2z,g1) :K[m,5]:=diff(M2z,dwl) :K[m,6]:=diff(M2z,dv1):K[m,7]:=diff(M2z,dgl) :K[m,
8]:=diff(M2z,u2):K[m,9]:=diff(M2z,v2):K[m,10] :=diff(M2z,w2):K[m,11]:=diff(M2z,g2
):K[m,12]:=diff(M2z,dw2):K[m,13]:=diff(M2z,dv2):K[m,14]:=diff(M2z,dg2):

>
m:=14:K[m,1]:=diff(B2,ul):K[m,2]:=diff(B2,v1):K[m,3]:=diff(B2,wl):K[m,4]:=diff(B
2,81):K[m,5]:=diff(B2,dwl) :K[m,6]:=diff(B2,dv1l):K[m,7]:=diff(B2,dgl) :K[m,8]:=dif
f(B2,u2):K[m,9]:=diff(B2,v2):K[m,10]:=diff(B2,w2):K[m,11]:=diff(B2,g2):K[m,12]:=
diff(B2,dw2):K[m,13]:=diff(B2,dv2):K[m,14]:=diff(B2,dg2):

>

> evalm(K):

>



